	[image: image3.png]cbseﬁguess




	http://www.cbseguess.com/



Sample Paper – 2009

Class – X
Subject – Chemistry
Date: 28/11/2007 








Max Marks: 80 Instructions:

i)
All questions are compulsory. ii) Section A contains 10 questions of 1 marks each, section B contains 5 questions of 2 marks each, section C contains 10 questions of 3 marks each and section D contains 5 questions of 6 marks each. iii) Use of calculators is not allowed. iv) Some questions have been provided with options.

[image: image3.png]
Section – A

1. Convert to decimal form: 5/12.

2. If p(x) = 5 – 4x + 2x 2, find p(2).

3. Expand: (a – 2b – 3c) 2.

4. Complete table for drawing graph of 2x – 3y = 6 on Cartesian co-ordinate system:

	x
	3
	

	y
	
	4


5. Two supplementary angles are in the ratio 3 : 2. Find their measures.

6. State two properties of a parallelogram.

7. The dimensions of a water tank are 60m x 40m x 50m. Find the volume.

8. Find the total surface area of a spherical balloon having diameter 2.1m.

9. State any two of Euclid’s postulates.

10. Factorise: x 3 – 27.

Secion – B

11.  Express as a rational number in p/q form: 
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12. Use remainder theorem, find remainder when (x + 5) divides 2x3 + 9x2 – 11x – 30. Also state your conclusion from the remainder.

OR

[image: image4.png]s
e NSxr 2




Factorise: 30x2 + 7x – 15.

13. AOB is a straight line. Find value of x.







 Hence find (AOC and (BOD.






(refer to adjoining fig.)

14. The angles of a triangle are in the ratio 2 : 3 : 4. Find their measures.

15. A cylindrical vessel has diameter 28cm and height is 40cm. Find capacity of vessel and the area of curved surface.

Section – C

16.  Find value of ‘a’ and ‘b’, if 
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17. Find value of ‘a’ for which (x – 4) is a factor of (2x 3 – 3x 2 – 18x + a).


Or


Write the factors of x3 – y3 , hence factorise 343 – 125b3.
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 In the fig. AB ║ CD. Find the value of ‘x’.

19. The sides of a triangular field are 52m, 56m and 60m resp. Find the area of the field. Also find the cost of leveling the field at the rate of Rs 220 per m2. 
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Find the area of canvas required to make a conical tent having base radius 7m and height 24m.






Or


       


 
A box made of sheet metal costs Rs 1620 at Rs 30 per m2. If the 
box is 5m long and 3m wide, find the height.

21.  In given figure, AB = AD and BC = DC. Prove that AC is perpendicular bisector of BD.
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Prove that diagonals of a parallelogram bisect each other





Or








Prove that diagonals of a Rectangle are equal.

23. O is centre of circle and (C= 50(. Find (OAB.(Refer fig.)

24. In (ABC, AD is median and E is midpoint of AD. 





Prove that Ar((ABC) = 4.Ar((BED).

25.  Show that in a right angled triangle, the hypotenuse is the longest side.

Section – D

26. Prove Angle sum property for a quadrilateral. In a parallelogram ABCD, (A = (2x+25)( and (B = (3x-5)(. Find ‘x’.

27.  Draw graphs of the following equations: 2x – 3y = 7, 3x + 2y = 4. State co-ordinates of point of intersection. Also measure and write angle formed at point of intersection. 

28.  The earth dug out of a well is spread evenly all around it to form an embankment which is 2m wide. Find the height of the embankment if diameter of the well is 2m and depth is 20m. Also find the cost of digging the well at Rs 25 per m3.

29. In an isosceles triangle ABC, AB = AC. D and E are points on BC such that BE = CD. Prove that i) (ABD ( (ACE, ii) AD = AE, iii) (ADE = (AED.

30. Find the value of á’and ‘b’so that polynomial (x 3 – 10x 2 + ax + b) is exactly divisible by (x – 1) as well as (x – 2)
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